



→ HYUDDAI Hyundai Dealer Staff Car Scheme

Please note - the dealership should assess the repurchase value of each individual vehicle before approving any orders.

Model Year	CAP ID	Model	OTR Price	6 Month Repayment	6 Month % Repurchase	6 Month £ Repurchase	12 Month Repayment	12 Month % Repurchase	12 Month £ Repurchase
2025	104618	I10 HATCHBACK 1.0 [63] Advance 5dr [Nav]	£16,630	£169	88.50%	£14,664	£179	88.75%	£14,626
2025	104619	I10 HATCHBACK 1.0 [63] Advance 5dr Auto [Nav]	£17,280	£179	88.50%	£15,240	£189	88.50%	£15,160
2025	104620	I10 HATCHBACK 1.0 [63] Premium 5dr [Nav]	£17,930	£179	88.50%	£15,815	£189	88.75%	£15,780
2025	104621	I10 HATCHBACK 1.0 [63] Premium 5dr Auto [Nav]	£18,580	£189	88.50%	£16,390	£199	87.75%	£16,172
2024	102968	I10 HATCHBACK 1.0 Advance 5dr	£16,080	£159	89.00%	£14,262	£169	89.15%	£14,213
2024	102969	I10 HATCHBACK 1.0 Advance 5dr Auto	£16,730	£169	88.70%	£14,791	£179	88.75%	£14,726
2023	92286	I10 HATCHBACK 1.0 MPi Premium 5dr	£16,875	£169	88.70%	£14,919	£179	88.90%	£14,880
2023	92290	I10 HATCHBACK 1.0 MPi Premium 5dr [Tech Pack]	£17,875	£179	88.45%	£15,762	£189	88.70%	£15,733
2023	92287	I10 HATCHBACK 1.0 MPi Premium 5dr Auto	£17,375	£169	88.80%	£15,380	£179	89.10%	£15,359
2023	92291	I10 HATCHBACK 1.0 MPi Premium 5dr Auto [Tech Pack]	£18,375	£189	88.35%	£16,186	£199	88.30%	£16,104
2023	92282	I10 HATCHBACK 1.0 MPi SE Connect 5dr	£15,575	£159	88.70%	£13,766	£169	88.90%	£13,724
2023	92283	I10 HATCHBACK 1.0 MPi SE Connect 5dr Auto	£16,075	£169	88.40%	£14,162	£179	88.40%	£14,089
2024	102970	I10 HATCHBACK 1.0 Premium 5dr	£17,380	£179	88.50%	£15,333	£189	88.45%	£15,251
2024	102972	I10 HATCHBACK 1.0 Premium 5dr [Nav]	£18,180	£179	88.55%	£16,050	£189	88.85%	£16,031
2024	102971	I10 HATCHBACK 1.0 Premium 5dr Auto	£18,030	£179	88.55%	£15,917	£189	88.85%	£15,897
2024	102973	I10 HATCHBACK 1.0 Premium 5dr Auto [Nav]	£18,830	£179	88.75%	£16,663	£189	89.30%	£16,692
2023	93882	I10 HATCHBACK 1.0 T-GDi N Line 5dr	£18,175	£179	88.50%	£16,036	£189	88.80%	£16,017
2023	93883	I10 HATCHBACK 1.0 T-GDi N Line 5dr [Tech Pack]	£19,175	£189	88.40%	£16,902	£199	88.70%	£16,886
2025	104626	I10 HATCHBACK 1.0T [90] N Line 5dr [Nav]	£19,180	£199	88.25%	£16,878	£209	88.00%	£16,757
2024	102980	I10 HATCHBACK 1.0T N Line 5dr	£18,680	£189	88.50%	£16,483	£199	88.50%	£16,410
2024	102981	I10 HATCHBACK 1.0T N Line 5dr [Nav]	£19,480	£189	88.65%	£17,220	£199	88.95%	£17,205
2025	104622	I10 HATCHBACK 1.2 [79] Advance 5dr [Nav]	£17,380	£179	88.50%	£15,333	£189	88.50%	£15,260
2025	104623	I10 HATCHBACK 1.2 [79] Advance 5dr Auto [Nav]	£18,030	£189	88.50%	£15,908	£199	88.75%	£15,880
2025	104624	I10 HATCHBACK 1.2 [79] Premium 5dr [Nav]	£18,680	£189	88.50%	£16,483	£199	88.50%	£16,410
2025	104625	I10 HATCHBACK 1.2 [79] Premium 5dr Auto [Nav]	£19,330	£189	88.50%	£17,058	£199	88.75%	£17,033
2024	102974	I10 HATCHBACK 1.2 Advance 5dr	£16,880	£169	88.70%	£14,924	£179	89.05%	£14,909
2024	102975	I10 HATCHBACK 1.2 Advance 5dr Auto	£17,530	£169	88.85%	£15,527	£179	89.20%	£15,514
2023	92288	I10 HATCHBACK 1.2 MPi Premium 5dr	£17,675	£169	88.70%	£15,629	£179	89.25%	£15,652
2023	92292	I10 HATCHBACK 1.2 MPi Premium 5dr [Tech Pack]	£18,675	£189	88.40%	£16,460	£199	88.45%	£16,396
2023	92289	I10 HATCHBACK 1.2 MPi Premium 5dr Auto	£18,175	£179	88.50%	£16,036	£189	88.85%	£16,026
2023	92293	I10 HATCHBACK 1.2 MPi Premium 5dr Auto [Tech Pack]	£19,175	£189	88.40%	£16,902	£199	88.70%	£16,886
2023	92284	I10 HATCHBACK 1.2 MPi SE Connect 5dr	£16,375	£169	88.50%	£14,443	£179	88.70%	£14,403
2023	92285	I10 HATCHBACK 1.2 MPi SE Connect 5dr Auto	£16,875	£169	88.70%	£14,919	£179	88.90%	£14,880
2024	102976	I10 HATCHBACK 1.2 Premium 5dr	£18,180	£179	88.55%	£16,050	£189	88.90%	£16,040
2024	102978	I10 HATCHBACK 1.2 Premium 5dr [Nav]	£18,980	£189	88.60%	£16,768	£199	88.55%	£16,685
2024	102977	I10 HATCHBACK 1.2 Premium 5dr Auto	£18,830	£189	88.50%	£16,616	£199	88.55%	£16,552
2024	102979	I10 HATCHBACK 1.2 Premium 5dr Auto [Nav]	£19,630	£189	88.70%	£17,363	£199	88.90%	£17,329
2023	97424	I20 HATCHBACK 1.0T GDI 48V MHD 120 N Line 5dr	£24,225	£239	86.15%	£20,819	£249	86.00%	£20,706
2020	31727	ECT. TOTAL CONTROL OF THE FOR THE SOI	227,220	1200	00.1070	220,010	LLTO	00.0070	220,700





⚠ HY⊔П□RI Hyundai Dealer Staff Car Scheme

Please note - the dealership should assess the repurchase value of each individual vehicle before approving any orders.

Model Year	CAP ID	Model	OTR Price	6 Month Repayment	6 Month % Repurchase	6 Month £ Repurchase	12 Month Repayment	12 Month % Repurchase	12 Month £ Repurchase
2023	97425	I20 HATCHBACK 1.0T GDi 48V MHD 120 N Line 5dr DCT	£25,475	£249	86.05%	£21,870	£259	86.00%	£21,781
2023	94919	I20 HATCHBACK 1.0T GDi 48V MHD Premium 5dr	£22,830	£229	86.10%	£19,605	£239	85.95%	£19,495
2023	94920	I20 HATCHBACK 1.0T GDi 48V MHD Premium 5dr DCT	£24,080	£239	86.10%	£20,682	£249	85.95%	£20,569
2023	94917	I20 HATCHBACK 1.0T GDi 48V MHD SE Connect 5dr	£20,630	£209	86.25%	£17,742	£219	86.00%	£17,614
2023	94918	I20 HATCHBACK 1.0T GDi 48V MHD SE Connect 5dr DCT	£21,880	£219	86.20%	£18,809	£229	86.00%	£18,689
2023	94921	I20 HATCHBACK 1.0T GDi 48V MHD Ultimate 5dr	£24,130	£249	85.85%	£20,665	£259	85.45%	£20,492
2023	94922	I20 HATCHBACK 1.0T GDi 48V MHD Ultimate 5dr DCT	£25,380	£259	85.80%	£21,725	£269	85.45%	£21,560
2024	103792	I20 HATCHBACK 1.0T GDi Advance 5dr	£21,480	£209	86.40%	£18,507	£219	86.40%	£18,429
2024	103793	I20 HATCHBACK 1.0T GDi Advance 5dr DCT	£22,730	£229	86.10%	£19,519	£239	85.80%	£19,374
2025	103794	I20 HATCHBACK 1.0T GDi Premium 5dr	£23,280	£229	86.20%	£20,016	£239	86.05%	£19,903
2025	103795	I20 HATCHBACK 1.0T GDi Premium 5dr DCT	£24,530	£239	86.15%	£21,081	£249	86.00%	£20,967
2025	103796	I20 HATCHBACK 1.0T GDi Ultimate 5dr	£24,780	£249	85.95%	£21,247	£259	85.60%	£21,083
2025	103797	I20 HATCHBACK 1.0T GDi Ultimate 5dr DCT	£26,030	£259	85.90%	£22,308	£269	85.60%	£22,153
2023	97416	I20 HATCHBACK 1.6T GDi N 5dr	£27,160	£279	90.95%	£24,648	£289	91.00%	£24,580
2023	94892	I30 FASTBACK 1.5T GDi N Line 5dr	£28,005	£279	76.60%	£21,407	£289	75.65%	£21,075
2023	94893	I30 FASTBACK 1.5T GDi N Line 5dr DCT	£29,205	£299	76.35%	£22,253	£309	75.20%	£21,852
2023	94894	I30 HATCHBACK 1.0T GDi Premium 5dr	£26,310	£259	76.85%	£20,169	£269	76.20%	£19,924
2023	94895	I30 HATCHBACK 1.0T GDi Premium 5dr DCT	£27,510	£269	76.75%	£21,064	£279	76.00%	£20,784
2023	94882	I30 HATCHBACK 1.0T GDi SE Connect 5dr	£23,360	£229	77.05%	£17,949	£239	76.35%	£17,711
2023	94883	I30 HATCHBACK 1.0T GDi SE Connect 5dr DCT	£24,560	£239	77.00%	£18,861	£249	76.25%	£18,603
2023	94886	I30 HATCHBACK 1.5T GDi N Line 5dr	£27,320	£269	76.80%	£20,932	£279	75.95%	£20,626
2023	94887	I30 HATCHBACK 1.5T GDi N Line 5dr DCT	£28,520	£279	76.75%	£21,839	£289	75.90%	£21,523
2023	94898	I30 TOURER 1.0T GDi Premium 5dr	£27,060	£259	76.90%	£20,759	£269	76.25%	£20,509
2023	94899	I30 TOURER 1.0T GDi Premium 5dr DCT	£28,260	£269	76.65%	£21,611	£279	76.25%	£21,424
2023	94888	I30 TOURER 1.0T GDi SE Connect 5dr	£24,110	£239	76.95%	£18,503	£249	76.10%	£18,224
2023	94889	I30 TOURER 1.0T GDi SE Connect 5dr DCT	£25,310	£249	76.85%	£19,401	£259	76.05%	£19,125
2023	97773	BAYON HATCHBACK 1.0 TGDi [120] 48V MHEV Premium 5dr	£25,130	£249	85.05%	£21,322	£259	84.75%	£21,171
2023	97774	BAYON HATCHBACK 1.0 TGDi [120] 48V MHEV Premium 5dr DCT	£26,380	£259	85.00%	£22,372	£269	84.80%	£22,243
2023	97777	BAYON HATCHBACK 1.0 TGDi [120] 48V MHEV Ultimate 5dr	£26,430	£259	85.00%	£22,415	£269	84.80%	£22,285
2023	97778	BAYON HATCHBACK 1.0 TGDi [120] 48V MHEV Ultimate 5dr DCT	£27,680	£269	84.95%	£23,463	£279	84.70%	£23,318
2023	97771	BAYON HATCHBACK 1.0 TGDi 48V MHEV Premium 5dr	£24,380	£239	85.15%	£20,708	£249	84.95%	£20,583
2023	97772	BAYON HATCHBACK 1.0 TGDi 48V MHEV Premium 5dr DCT	£25,630	£249	85.10%	£21,760	£259	84.95%	£21,645
2023	97769	BAYON HATCHBACK 1.0 TGDi 48V MHEV SE Connect 5dr	£22,180	£219	85.25%	£18,857	£229	85.05%	£18,737
2023	97770	BAYON HATCHBACK 1.0 TGDi 48V MHEV SE Connect 5dr DCT	£23,430	£229	85.20%	£19,911	£239	85.05%	£19,800
2023	97775	BAYON HATCHBACK 1.0 TGDi 48V MHEV Ultimate 5dr	£25,680	£249	85.10%	£21,803	£259	85.00%	£21,701





→ HYUDDAI Hyundai Dealer Staff Car Scheme

Please note - the dealership should assess the repurchase value of each individual vehicle before approving any orders.

Model Year	CAP ID	Model	OTR Price	6 Month Repayment	6 Month % Repurchase	6 Month £ Repurchase	12 Month Repayment	12 Month % Repurchase	12 Month £ Repurchase
2023	97776	BAYON HATCHBACK 1.0 TGDi 48V MHEV Ultimate 5dr DCT	£26,930	£269	84.85%	£22,799	£279	84.40%	£22,602
2022.75	97757	IONIQ 5 ELECTRIC HATCHBACK 125kW Premium 58 kWh 5dr Auto	£42,300	£429	75.60%	£31,929	£439	74.55%	£31,411
2024	100402	IONIQ 5 ELECTRIC HATCHBACK 125kW Premium 58 kWh 5dr Auto [Part Leather]	£44,145	£449	75.55%	£33,299	£459	74.45%	£32,736
2023	97756	IONIQ 5 ELECTRIC HATCHBACK 125kW SE Connect 58 kWh 5dr Auto	£41,860	£419	75.70%	£31,638	£429	74.75%	£31,166
2022.5	97758	IONIQ 5 ELECTRIC HATCHBACK 125kW Ultimate 58 kWh 5dr Auto	£45,300	£459	75.55%	£34,174	£469	74.45%	£33,602
2022.5	97759	IONIQ 5 ELECTRIC HATCHBACK 125kW Ultimate 58 kWh 5dr Auto [Tech]	£46,795	£469	75.60%	£35,327	£479	74.55%	£34,762
2022.5	97760	IONIQ 5 ELECTRIC HATCHBACK 160kW Premium 73 kWh 5dr Auto	£45,550	£459	75.60%	£34,386	£469	74.50%	£33,811
2022.5	97761	IONIQ 5 ELECTRIC HATCHBACK 160kW Ultimate 73 kWh 5dr Auto	£48,550	£489	75.50%	£36,605	£499	74.40%	£35,998
2022.5	97762	IONIQ 5 ELECTRIC HATCHBACK 160kW Ultimate 73 kWh 5dr Auto [Tech]	£50,045	£509	75.45%	£37,709	£519	74.25%	£37,035
2024	100406	IONIQ 5 ELECTRIC HATCHBACK 168kW Namsan Edition 77 kWh 5dr Auto	£55,145	£559	75.35%	£41,499	£569	74.15%	£40,760
2024	100403	IONIQ 5 ELECTRIC HATCHBACK 168kW Premium 77 kWh 5dr Auto [Part Leather]	£47,645	£479	75.55%	£35,943	£489	74.50%	£35,365
2024	100404	IONIQ 5 ELECTRIC HATCHBACK 168kW Ultimate 77 kWh 5dr Auto	£50,645	£509	75.50%	£38,184	£519	74.40%	£37,550
2024	100405	IONIQ 5 ELECTRIC HATCHBACK 168kW Ultimate 77 kWh 5dr Auto [Tech]	£51,640	£519	75.50%	£38,935	£529	74.35%	£38,264
2022.5	97764	IONIQ 5 ELECTRIC HATCHBACK 225kW Premium 73 kWh 5dr AWD Auto	£48,750	£489	75.55%	£36,780	£499	74.45%	£36,171
2022.5	97765	IONIQ 5 ELECTRIC HATCHBACK 225kW Ultimate 73 kWh 5dr AWD Auto	£51,750	£519	75.50%	£39,021	£529	74.35%	£38,353
2022.5	97763	IONIQ 5 ELECTRIC HATCHBACK 225kW Ultimate 73 kWh 5dr AWD Auto [Tech]	£53,245	£539	75.40%	£40,097	£549	74.20%	£39,384
2024	100410	IONIQ 5 ELECTRIC HATCHBACK 239kW Namsan Edition 77 kWh 5dr AWD Auto	£58,645	£589	75.40%	£44,166	£599	74.15%	£43,356
2024	100407	IONIQ 5 ELECTRIC HATCHBACK 239kW Premium 77 kWh 5dr AWD Auto [Part Leather]	£51,145	£519	75.45%	£38,536	£529	74.25%	£37,845
2024	100408	IONIQ 5 ELECTRIC HATCHBACK 239kW Ultimate 77 kWh 5dr AWD Auto	£54,145	£549	75.40%	£40,773	£559	74.15%	£40,019
2024	100409	IONIQ 5 ELECTRIC HATCHBACK 239kW Ultimate 77 kWh 5dr AWD Auto [Tech]	£55,140	£559	75.35%	£41,495	£569	74.15%	£40,757
2024	101417	IONIQ 6 ELECTRIC SALOON 168kW Premium 77kWh 4dr Auto	£47,040	£419	76.15%	£35,821	£429	75.70%	£35,609
2024	101419	IONIQ 6 ELECTRIC SALOON 168kW Ultimate 77kWh 4dr Auto	£50,540	£449	76.10%	£38,461	£459	75.60%	£38,208
2024	101418	IONIQ 6 ELECTRIC SALOON 239kW Premium 77kWh 4dr AWD Auto	£50,540	£449	76.10%	£38,461	£459	75.60%	£38,208
2024	101420	IONIQ 6 ELECTRIC SALOON 239kW Ultimate 77kWh 4dr AWD Auto	£54,040	£489	75.95%	£41,043	£499	75.30%	£40,692
2024	101443	IONIQ 6 ELECTRIC SALOON SPECIAL EDITIONS 239kW First Edition 77kWh 4dr AWD Auto	£55,290	£499	75.95%	£41,993	£509	75.30%	£41,633
2024	103320	KONA ELECTRIC HATCHBACK 115kW Advance 48kWh 5dr Auto	£35,645	£349	79.30%	£28,215	£359	78.40%	£27,818
2024	103321	KONA ELECTRIC HATCHBACK 115kW Advance 48kWh 5dr Auto [Comfort Pack]	£36,245	£359	79.10%	£28,618	£369	78.45%	£28,307
2024	103322	KONA ELECTRIC HATCHBACK 160kW Advance 65kWh 5dr Auto	£39,245	£389	79.00%	£30,952	£399	78.30%	£30,602
2024	103323	KONA ELECTRIC HATCHBACK 160kW Advance 65kWh 5dr Auto [Comfort Pack]	£39,845	£399	79.05%	£31,446	£409	78.15%	£31,012
2024	103324	KONA ELECTRIC HATCHBACK 160kW N Line 65kWh 5dr Auto	£41,045	£409	79.05%	£32,395	£419	78.05%	£31,909
2024	103326	KONA ELECTRIC HATCHBACK 160kW N Line S 65kWh 5dr Auto	£43,745	£439	78.80%	£34,420	£449	77.85%	£33,929
2024	103327	KONA ELECTRIC HATCHBACK 160kW N Line S 65kWh 5dr Auto [Lux Pack]	£45,895	£459	78.80%	£36,114	£469	77.80%	£35,580
2024	103325	KONA ELECTRIC HATCHBACK 160kW Ultimate 65kWh 5dr Auto	£43,745	£439	78.80%	£34,420	£449	77.85%	£33,929
2024	103329	KONA ELECTRIC HATCHBACK 160kW Ultimate 65kWh 5dr Auto [Leather]	£44,645	£439	79.00%	£35,218	£449	78.05%	£34,719
2024	103330	KONA ELECTRIC HATCHBACK 160kW Ultimate 65kWh 5dr Auto [Lux Pack/Leather]	£46,245	£459	78.85%	£36,413	£469	77.90%	£35,898
	103328	KONA ELECTRIC HATCHBACK 160kW Ultimate 65kWh 5dr Auto [Lux Pack]	£45,345	£449	79.05%	£35,794	£459	77.95%	£35,220





⚠ HY⊔П□RI Hyundai Dealer Staff Car Scheme

Please note - the dealership should assess the repurchase value of each individual vehicle before approving any orders.

Model Year	CAP ID	Model	OTR Price	6 Month Repayment	6 Month % Repurchase	6 Month £ Repurchase	12 Month Repayment	12 Month % Repurchase	12 Month £ Repurchase
2023	95760	KONA HATCHBACK 1.0 TGDi 48V MHEV N Line 5dr	£26,760	£269	79.55%	£21,243	£279	78.70%	£20,949
2023	96070	KONA HATCHBACK 1.0 TGDi 48V MHEV Premium 5dr	£26,830	£269	79.55%	£21,298	£279	78.75%	£21,017
2023	96069	KONA HATCHBACK 1.0 TGDi 48V MHEV SE Connect 5dr	£24,230	£249	79.60%	£19,242	£259	78.70%	£18,958
2023	96071	KONA HATCHBACK 1.0 TGDi 48V MHEV Ultimate 5dr	£29,130	£299	79.25%	£23,041	£309	78.25%	£22,684
2024	102955	KONA HATCHBACK 1.0T Advance 5dr	£26,690	£269	87.90%	£23,403	£279	87.50%	£23,212
2024	102956	KONA HATCHBACK 1.0T Advance 5dr DCT	£28,490	£279	87.90%	£24,986	£289	87.75%	£24,857
2024	102996	KONA HATCHBACK 1.0T N Line 5dr	£28,490	£279	87.90%	£24,986	£289	87.75%	£24,857
2024	102957	KONA HATCHBACK 1.0T N Line 5dr DCT	£30,290	£299	87.85%	£26,553	£309	87.50%	£26,362
2024	102958	KONA HATCHBACK 1.0T N Line S 5dr	£30,890	£299	87.80%	£27,064	£309	87.70%	£26,948
2024	102982	KONA HATCHBACK 1.0T N Line S 5dr [Lux Pack]	£31,740	£319	87.60%	£27,747	£329	87.20%	£27,536
2024	102959	KONA HATCHBACK 1.0T N Line S 5dr DCT	£32,690	£319	87.80%	£28,645	£329	87.70%	£28,527
2024	102984	KONA HATCHBACK 1.0T N Line S 5dr DCT [Lux Pack]	£33,990	£339	87.55%	£29,701	£349	87.15%	£29,481
2024	102997	KONA HATCHBACK 1.0T Ultimate 5dr	£30,890	£299	87.80%	£27,064	£309	87.70%	£26,948
2024	102960	KONA HATCHBACK 1.0T Ultimate 5dr DCT	£32,690	£319	87.80%	£28,645	£329	87.70%	£28,527
2024	102987	KONA HATCHBACK 1.0T Ultimate 5dr DCT [Lux Pack]	£33,440	£339	87.45%	£29,186	£349	86.95%	£28,935
2024	102965	KONA HATCHBACK 1.6 GDi Hybrid Advance 5dr DCT	£31,035	£309	86.60%	£26,820	£319	86.35%	£26,658
2024	102966	KONA HATCHBACK 1.6 GDi Hybrid N Line 5dr DCT	£32,835	£319	86.75%	£28,428	£329	86.60%	£28,294
2024	102967	KONA HATCHBACK 1.6 GDi Hybrid N Line S 5dr DCT	£35,235	£349	86.50%	£30,422	£359	86.05%	£30,180
2024	102986	KONA HATCHBACK 1.6 GDi Hybrid N Line S 5dr DCT [Lux Pack]	£37,085	£359	86.55%	£32,041	£369	86.30%	£31,864
2023	96561	KONA HATCHBACK 1.6 GDi Hybrid Premium 5dr DCT	£29,710	£299	81.40%	£24,138	£309	80.60%	£23,832
2023	96560	KONA HATCHBACK 1.6 GDi Hybrid SE Connect 5dr DCT	£26,910	£269	81.60%	£21,912	£279	80.95%	£21,669
2023	96562	KONA HATCHBACK 1.6 GDi Hybrid Ultimate 5dr DCT	£32,210	£329	81.20%	£26,109	£339	80.25%	£25,735
2024	102998	KONA HATCHBACK 1.6 GDi Hybrid Ultimate 5dr DCT	£35,235	£349	86.50%	£30,422	£359	86.05%	£30,180
2024	102989	KONA HATCHBACK 1.6 GDi Hybrid Ultimate 5dr DCT [Lux Pack]	£36,535	£359	86.50%	£31,547	£369	86.05%	£31,299
2024	102961	KONA HATCHBACK 1.6T N Line S 5dr	£32,690	£319	87.80%	£28,645	£329	87.70%	£28,527
2024	102983	KONA HATCHBACK 1.6T N Line S 5dr [Lux Pack]	£33,540	£339	87.50%	£29,291	£349	87.00%	£29,038
2024	102962	KONA HATCHBACK 1.6T N Line S 5dr DCT	£34,490	£339	87.60%	£30,156	£349	87.40%	£30,002
2024	102985	KONA HATCHBACK 1.6T N Line S 5dr DCT [Lux Pack]	£35,790	£359	87.45%	£31,242	£369	87.00%	£30,996
2024	102963	KONA HATCHBACK 1.6T Ultimate 5dr	£32,690	£319	87.80%	£28,645	£329	87.70%	£28,527
2024	102964	KONA HATCHBACK 1.6T Ultimate 5dr DCT	£34,490	£339	87.60%	£30,156	£349	87.45%	£30,019
2024	102988	KONA HATCHBACK 1.6T Ultimate 5dr DCT [Lux Pack]	£35,240	£349	87.55%	£30,796	£359	87.20%	£30,588
2023	96554	SANTA FE ESTATE 1.6 TGDi Hybrid Premium 5dr 4WD Auto	£46,030	£419	82.85%	£38,078	£429	82.95%	£38,037
2023	96553	SANTA FE ESTATE 1.6 TGDi Hybrid Premium 5dr Auto	£43,955	£409	82.60%	£36,249	£419	82.60%	£36,162
2023	96557	SANTA FE ESTATE 1.6 TGDi Hybrid Ultimate 5dr 4WD Auto	£49,325	£459	82.50%	£40,635	£469	82.55%	£40,573
2023	96556	SANTA FE ESTATE 1.6 TGDi Hybrid Ultimate 5dr Auto	£47,325	£429	82.85%	£39,151	£439	82.95%	£39,111
2023	96555	SANTA FE ESTATE 1.6 TGDi Plug-in Hybrid Premium 5dr 4WD Auto	£49,085	£459	82.35%	£40,364	£469	82.25%	£40,228
2023	96558	SANTA FE ESTATE 1.6 TGDi Plug-in Hybrid Ultimate 5dr 4WD Auto	£52,380	£479	82.40%	£43,103	£489	82.35%	£42,991





⚠ HY⊔П□RI Hyundai Dealer Staff Car Scheme

Please note - the dealership should assess the repurchase value of each individual vehicle before approving any orders.

Model Year	CAP ID	Model	OTR Price	6 Month Repayment	6 Month % Repurchase	6 Month £ Repurchase	12 Month Repayment	12 Month % Repurchase	12 Month £ Repurchase
2023.25	96735	TUCSON ESTATE 1.6 TGDi 48V MHD 180 N Line S 5dr 4WD DCT	£40,590	£369	76.85%	£31,140	£379	76.35%	£30,857
2023.25	96107	TUCSON ESTATE 1.6 TGDi 48V MHD 180 Ultimate 5dr 4WD DCT	£41,120	£389	76.55%	£31,424	£399	76.20%	£31,200
2023.25	96732	TUCSON ESTATE 1.6 TGDi 48V MHD N Line 5dr 2WD DCT	£36,390	£339	76.60%	£27,821	£349	76.00%	£27,523
2023.25	96734	TUCSON ESTATE 1.6 TGDi 48V MHD N Line S 5dr 2WD DCT	£38,310	£349	76.65%	£29,311	£359	76.15%	£29,040
2022	96103	TUCSON ESTATE 1.6 TGDi 48V MHD Premium 5dr 2WD	£34,859	£349	76.35%	£26,561	£359	75.40%	£26,152
2023.25	96104	TUCSON ESTATE 1.6 TGDi 48V MHD Premium 5dr 2WD DCT	£35,990	£339	76.55%	£27,497	£349	75.85%	£27,166
2022	96101	TUCSON ESTATE 1.6 TGDi 48V MHD SE Connect 5dr 2WD	£32,749	£329	76.10%	£24,869	£339	75.15%	£24,479
2023.25	96102	TUCSON ESTATE 1.6 TGDi 48V MHD SE Connect 5dr 2WD DCT	£33,990	£319	76.55%	£25,966	£329	76.05%	£25,716
2023.25	96106	TUCSON ESTATE 1.6 TGDi 48V MHD Ultimate 5dr 2WD DCT	£38,840	£349	76.60%	£29,698	£359	76.25%	£29,482
2023.25	97784	TUCSON ESTATE 1.6 TGDi Hybrid 230 N Line 5dr 2WD Auto	£39,100	£349	78.80%	£30,756	£359	78.55%	£30,576
2023.25	97785	TUCSON ESTATE 1.6 TGDi Hybrid 230 N Line S 5dr 2WD Auto	£41,020	£389	78.40%	£32,105	£399	78.10%	£31,900
2023.25	96109	TUCSON ESTATE 1.6 TGDi Hybrid 230 Premium 5dr 2WD Auto	£38,850	£349	78.70%	£30,520	£359	78.45%	£30,341
2023.25	96108	TUCSON ESTATE 1.6 TGDi Hybrid 230 SE Connect 5dr 2WD Auto	£36,650	£339	78.60%	£28,752	£349	78.20%	£28,523
2023.25	96110	TUCSON ESTATE 1.6 TGDi Hybrid 230 Ultimate 5dr 2WD Auto	£41,345	£389	78.45%	£32,380	£399	78.20%	£32,195
2023.25	96731	TUCSON ESTATE 1.6 TGDi N Line 5dr 2WD	£34,635	£329	76.80%	£26,546	£339	76.20%	£26,259
2023.25	96733	TUCSON ESTATE 1.6 TGDi N Line S 5dr 2WD	£36,335	£339	76.80%	£27,852	£349	76.30%	£27,590
2023.25	97786	TUCSON ESTATE 1.6 TGDi Plug-in Hybrid N Line 5dr 4WD Auto	£42,630	£409	77.10%	£32,814	£419	76.60%	£32,521
2023.25	97787	TUCSON ESTATE 1.6 TGDi Plug-in Hybrid N Line S 5dr 4WD Auto	£44,550	£429	76.95%	£34,227	£439	76.50%	£33,947
2023.25	96576	TUCSON ESTATE 1.6 TGDi Plug-in Hybrid Premium 5dr 4WD Auto	£42,630	£409	77.10%	£32,814	£419	76.60%	£32,521
2023.25	96577	TUCSON ESTATE 1.6 TGDi Plug-in Hybrid Ultimate 5dr 4WD Auto	£45,330	£439	76.85%	£34,782	£449	76.40%	£34,498
2023.25	96099	TUCSON ESTATE 1.6 TGDi Premium 5dr 2WD	£33,935	£319	76.90%	£26,042	£329	76.35%	£25,776
2023.25	96098	TUCSON ESTATE 1.6 TGDi SE Connect 5dr 2WD	£32,235	£299	77.05%	£24,783	£309	76.65%	£24,574
2023.25	96100	TUCSON ESTATE 1.6 TGDi Ultimate 5dr 2WD	£36,635	£349	76.65%	£28,027	£359	76.00%	£27,710